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cach triangle. If a problem does not have a solution, write “no solution.”
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Problems 1-8 represent a variety of problems involving both the law of sines and the law of cosines. Solve
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Determine the largest angle’s measure in APNH if p=5. 8, n=37.7, and h = 41.3.
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A triangular field is 102.4 yards on one side and 113.2 yards on another. The measure of the angle
between them is 63.6°. Determine the length of the third side.
% 2 '
‘ " Cl-:. 132 + o2 4 - 2.(,!\3 4)(/02 ‘-{)COS L3l
_ c \ 3.2
; c= 113 98yl )
(CPAC|

12.

To approximate the distance from two points R and T on opposite sides of a small lake, a person
walks 600 feet from R to Q and then turns 35° and walks 870 feet to T. Find RT.
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13.  InT-Ball, the field is a square diamond with each side measuring 40 feet. The “pitcher’s mound”

f— is positioned 25 feet from home base. Determine the distance from the pitcher’s mound to third
base.
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14. An airplane flies from Ft. Myers to Sarasota, a distance of 150 miles and then turns though an
angle of 50° and flies to Orlando, a distance of 100 miles. How far is it from Ft. Myers to Orlando

if took a direct flight?
if you took a direct flig Orlando

Ft. Myers 150 mi Sarasota
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